



# Article A Novel Low-Cost Uroflowmetry for Patient Telemonitoring

Savio Domenico Pandolfo <sup>1,2,†</sup><sup>®</sup>, Federica Crauso <sup>3,†</sup>, Achille Aveta <sup>1</sup><sup>®</sup>, Simone Cilio <sup>1</sup><sup>®</sup>, Biagio Barone <sup>1</sup><sup>®</sup>, Luigi Napolitano <sup>1</sup>, Antonio Scarpato <sup>1</sup>, Benito Fabio Mirto <sup>1</sup>, Francesco Serino <sup>4</sup><sup>®</sup>, Francesco Del Giudice <sup>5,6</sup><sup>®</sup>, Benjamin I. Chung <sup>6</sup>, Fabio Crocerossa <sup>7</sup><sup>®</sup>, Erika Di Zazzo <sup>8,\*</sup><sup>®</sup>, Francesco Trama <sup>9</sup>, Ruggero Vaglio <sup>10</sup>, Zhenjie Wu <sup>11</sup>, Paolo Verze <sup>12</sup>, Ciro Imbimbo <sup>1</sup> and Felice Crocetto <sup>1</sup><sup>®</sup>

- <sup>1</sup> Department of Neurosciences, Reproductive Sciences and Odontostomatology, University of Naples "Federico II", 80131 Naples, Italy
- <sup>2</sup> Division of Urology, Virginia Commonwealth University (VCU) Health, Richmond, VA 23298, USA
- <sup>3</sup> Department of Public Health, University of Naples "Federico II", 80125 Naples, Italy
- <sup>4</sup> NexsusTLC SRLS, 80010 Quarto, Italy
- <sup>5</sup> Department of Maternal-Infant and Urologic Sciences, "Sapienza" University of Rome, Policlinico Umberto I Hospital, 00161 Rome, Italy
- <sup>6</sup> Department of Urology, Stanford Medical Center, Stanford, CA 94305, USA
- <sup>7</sup> Urology Unit, Magna Graecia University of Catanzaro, 88100 Catanzaro, Italy
- <sup>8</sup> Department of Medicine and Health Sciences "V. Tiberio", University of Molise, 86100 Campobasso, Italy
- <sup>9</sup> Andrological and Urogynecological Clinic, Santa Maria Terni Hospital, University of Perugia, 05100 Terni, Italy
- <sup>10</sup> Department of Physics, University of Naples "Federico II", and CNR SPIN, 80125 Naples, Italy
- <sup>11</sup> Department of Urology, Changhai Hospital, Naval Medical University, Shanghai 200433, China
- <sup>12</sup> Department of Medicine and Surgery, Scuola Medica Salernitana, University of Salerno, 84081 Fisciano, Italy
- Correspondence: erika.dizazzo@unimol.it
- + These authors contributed equally to the manuscript.

Abstract: Uroflowmetry (UF) is a crucial guideline-recommended tool for men with benign prostatic obstruction (BPO). Moreover, UF is a helpful decision-making tool for the management of patients with lower urinary tract symptoms (LUTS) and benign prostatic hyperplasia (BPH). In the last few years, telemedicine and telehealth have increased exponentially as cost-effective treatment options for both patients and physicians. Telemedicine and telehealth have been well positioned during the COVID-19 pandemic to prevent healthcare system overload and to ensure adequate management of patients through screening, diagnosis, and follow-up at home. In the present manuscript, the main characteristics and performance of a novel and low-cost device for home-based UF have been analyzed. The simple weight-transducer method has been applied to perform UF. An inexpensive load cell connected to a 24 bit analogic digital converter (ADC) sends data to a cloud server via SIM card or home Wi-Fi. Data are processed and shown in graphics with both volume and flow rate as a function of time, allowing for measurement of average flow rate, maximum flow rate, voided volume, and voiding time. A numerical algorithm allows for filtering of the dynamic effect due to the urine gravity acceleration and for removing the funnel to simplify the home measurement procedure. Through an online platform, the physician can see and compare each UF data. The device's reliability has been validated in a first laboratory setting and showed excellent performance. This approach based on domiciliary tests and an online platform can revolutionize the urologic clinic landscape by offering a constant patient cost-effective follow-up, eliminating the time wasted waiting in the office setting.

Keywords: uroflow; home uroflowmetry; urodynamics; software; BPH

## 1. Introduction

Uroflowmetry (UF) is a crucial guideline-recommended tool for men with benign prostatic obstruction (BPO) and is a helpful decision-making tool for patients with lower urinary tract symptoms (LUTS) and benign prostatic hyperplasia (BPH) [1].



Citation: Pandolfo, S.D.; Crauso, F.; Aveta, A.; Cilio, S.; Barone, B.; Napolitano, L.; Scarpato, A.; Mirto, B.F.; Serino, F.; Del Giudice, F.; et al. A Novel Low-Cost Uroflowmetry for Patient Telemonitoring. *Int. J. Environ. Res. Public Health* **2023**, *20*, 3287. https://doi.org/10.3390/ ijerph20043287

Academic Editor: Paul B. Tchounwou

Received: 6 November 2022 Revised: 12 January 2023 Accepted: 7 February 2023 Published: 13 February 2023



**Copyright:** © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).

Requirements for UF described by a 2018 International Continence Society (ICS) Standardization Report include adequate privacy, a normal desire to void, and repeated and representative measurements. The variables measured should include a graphical plot of flow rate against time for the whole void, maximum urinary flow rate (Qmax), voided volume (Vvoid), and post-void residual volume (PVR) [2]. Current UF is an officebased procedure requiring "on-demand" urination. Most clinicians use a single office measurement of flow rate, but this approach may not be ideal because of physiological and circadian variations in urination [3]. For this reason, single-test office UF cannot be considered a universally reliable procedure for BPO determination; it has been reported that some patients are unable to relax in unfamiliar environments [4]. Although multiple office readings are time and cost-consuming, they have been performed to avoid these limitations and to improve diagnostic accuracy [5]. Therefore, consecutive tests are recommended to obtain accurate measurements because of variability in several voiding parameters [6]. Another possibility is a home-based UF device that enables multiple measurements in line with an individual's day-to-day voiding habits and could potentially be used as part of the assessment of men with LUTS. For this reason, a comfortable, friendly, and portable home-based UF may overcome office-based UF limits.

Over time, different home devices have been projected for the purpose, however, in real-world settings their application was poor and none of them offer an online telemonitoring platform (CIT). Moreover, the COVID-19 pandemic has considerably challenged the healthcare system worldwide, resulting in the impossibility of providing timely and effective diagnoses and treatments [5]. For this reason, the European Association of Urology (EAU) guidelines on male LUTS and BPH have recommended telemedicine for assessment and follow-up in the COVID-19 era and beyond [1,6].

In this scenario, one of the more appealing strategies could be a low-cost home-based UF as a useful urodynamic tool considering social distancing measures. Moreover, the use of a home-based UF in a private setting could overcome the office-based UF limits considering its advantages of decreasing variability through the statistical benefit of averaging multiple measurements and complying with circadian rhythms.

Herein, we show our novel low-cost UF describing physical principles, device configuration, and data acquisition.

#### 2. Methods

The developed device has been recorded with the following patent number: 10202100 0032333.

#### 2.1. Physical Principles of the Flow Measurement

Different methods can be used for measuring urine flow and in general any liquid flow. The load cell or weight transducer method represents the simplest and the most used technique [7]. When using the load cell method, it is customary to insert a funnel between the penis and the vessel, connected to a frame on the floor. This represents the standard office-based UF, which although reliable, would be uncomfortable and unfriendly in a home setting. To this purpose, we developed a new comfortable and user-friendly home-based UF by applying a specific algorithm that allowed us to remove the funnel (Figure 1a).

The load cell measures the force exerted by the urine weight deposited on a vessel located on the cell as schematically reported in Figure 1a. The force F measured by the cell is a function of time (t) and can be expressed in the following way [8]:

$$F(t) = M(t)g + \frac{dP(t)}{dt}$$
(1)

Here, *M* is the urine mass, *g* the gravity acceleration (9.8 m/s<sup>2</sup> at sea level) and *P* is the urine momentum (P = Mv), where *v* is the velocity of the urine when it reaches the bottom of the vessel (the symbol indicates the time derivative of momentum). The urine mass can

be written as  $M = \rho V$ , where *V* is the urine volume and  $\rho$  is the urine density. Neglecting the vertical component of the urine emitted at the penis level, the velocity is just the "fall velocity", where *h* is the distance between the penis and the surface of the urine in the vessel. However, during the process, the level of urine in the vessel increases, and if the vessel is large enough, *h* can be assumed to be the distance between the penis level and the bottom of the vessel. The fall velocity can be assumed constant.



**Figure 1.** Simplified configuration adopted in our work and the classical configuration. (**a**) This represents our home-based UF. The load cell measures the force exerted by the urine weight deposited on a vessel located on the cell. Our device is more comfortable and user-friendly than (**b**) the standard office-based device, which requires a funnel between the penis and the vessel.

In order to determine *h*, the patient height has to be acquired during the anamnesis process. Then, the distance of the penis from the ground can be assumed to be half of the patient height. The basis of the load cell must be set on the cover of the bathroom cup or on any equivalent surface at a height of about 45 cm from the ground. *H* is the difference between the penis and the support surface heights in respect to ground. This procedure would generate an error on h that can be estimated being on the order of 10%.

We can rewrite Equation (1) in the following way:

$$F(t) = \rho g V(t) + \rho \sqrt{2gh} \frac{dV(t)}{dt} \text{ or } : \frac{F(t)}{\rho g} = V(t) + \sqrt{\frac{2h}{g}} \frac{dV(t)}{dt}$$

The flux (or flow rate) is  $R(t) = \frac{dV(t)}{dt}$ . We can now define the "measured volume"  $V_m(t) = \frac{F(t)}{\rho g}$  by a simple calibration procedure, we can set  $V_m(t) = V(t)$  at the end of the voiding process when the flow rate is zero, with the urine volume measured in ml. Since urine density  $\rho$  changes of less than 4% among different patients (or for the same patients at different times), within the uncertainty limits of the full urine flux measuring procedure, the calibration procedure needs only to be carried out once, before starting clinical use of the device.

Introducing the "time of fall"  $\tau = \sqrt{\frac{2h}{g}}$  (that represents the time that the urine takes from emission at the penis level to reach the bottom of the vessel), we can rewrite the final differential equation:

$$V_m(t) = V(t) + \tau \frac{dV(t)}{dt}$$
<sup>(2)</sup>

The second term on the right in Equation (2) is sometimes referred to as the "gravity term" and represents a correction term, i.e., the difference between the effective and measured volumes. As already mentioned, when using the load cell method, it is customary

to insert a funnel between the penis and the vessel (Figure 1b). This reduces the fall height h (and, consequently, the fall time  $\tau$  to very low values, so that the "gravity term" can be fully neglected in Equation (2) and the "measured volume" coincides with the effective urine volume ( $V_m(t) = V(t)$  at any time). In this case, the flux can be simply calculated by taking the measured volume derivative. However, in our opinion, for a home-based UF setting, introduction of the funnel makes the device more complex and unpractical for the patients. Consequentially, we removed the funnel relying on the full Equation (2) to obtain the real urine volume and flux from the measurements.

Equation (2) is a differential equation that can be solved numerically by a complex procedure. However, for a fall height  $h \le 0.9 m$  (patient height less than 2.4 m; fall time  $\tau < 0.4 s$ ) and any flux rate, the gravity term is small, and a simpler, although approximate, procedure can be safely used. In a first-order approximation, we can estimate the gravity term by initially computing the flux from the measured volume. This introduces just a small error since we are using an approximate volume determination ( $V_m(t)$ ) only in the correction term. Then and from Equation (2), we can obtain the effective volume from the measured one, using the equation: by inverting Equation (2):

$$V(t) = V_m(t) - \tau \frac{dV_m(t)}{dt}$$
(3)

Then, we obtain the effective, although approximate, flux by  $R(t) = \frac{dV(t)}{dt}$ . This procedure can be simply implemented numerically from the acquired load cell data.

The use of this technique reduces systematic error due to the gravity term. In percentage, the entity of this systematic error is larger for high flux rates and is larger at the first stages of the urination process (when the deposited urine volume is small).

This is quantitatively illustrated in Supplementary Table S1, where the error in percentage due to the gravity term is calculated from Equation (3) for different values of volume, flow, and fall height. The data show how the addition of the second term (gravity term) affects the measurements. We can say that without the algorithm, we would have an error always higher than 8%, exceeding what the guidelines recommend [2], especially for higher flow rates and at the beginning of urination.

#### 2.2. Prototype Device

# 2.2.1. Load Cell, Electronics and Device Design

Our UF consists of two main parts: the weight transducer, namely the load cell, that can detect the urine weight and a microcontroller that interfaces with an analog digital converter (ADC) and sends the recorded measurements to a dedicated server (Figure 2). The load cell can appreciate a weight not exceeding 1 kg, and it is equipped with a 24 bit ADC, 80 Hz sampling frequency. The device, due to the SIM800l module, sends data without having to be configured to any Wi-Fi network. The microcontroller sends the data array via Sim card or Wi-Fi connection. The microcontroller is a Node MCU ESP32, a low-cost and powerful system with an integrated Sim card slot, Wi-Fi, and dual-mode Bluetooth. The Flash File System for Serial Peripherical Interface (SPIFFS) allows access to the flash memory to read and write the files. In this flash memory, the ESP 32 stores the files. Moreover, after starting the measurement, the SPIFF records and sends the data to the server at the end of the measurement. The microcontroller is programmed with a maximum of 10 s waiting time to calculate the time delay. The delay time is calculated as the time difference between the beginning of the measurement and the time of the first non-zero acquired datum. Once GPRS (General Packet Radio Service) connectivity is established, the display indicates that the device is ready for performing the measurement.



**Figure 2.** Measurement and data transfer method. The weight transducer, namely the load cell, can detect the urine weight and communicate with the microcontroller, sending the recorded measurements to a dedicated server.

The system includes a rechargeable battery and two buttons, one to turn on the device, and another to boot/break/stop the measurement. Once the measure has started, the display indicates that the measurement is ongoing, and the urine voided volume is displayed at the end of the measurement. At each measurement, the device is self-resettled to the volume of 0 mL. An acoustic signal is introduced to provide further feedback to the patient about the start and end measurement process, along with the resulting data transmission. If the user forgets to press the stop button after the measurement, the device after 100 acquisitions (20 s) of the same volume value interrupts the operation, and data are sent, always preceded by the acoustic signal feedback, to the server.

The device design maintains a separation between the electronics and the load cell to make the device easy to use (Figure 3c). The patient places the load cell included in a 3D-printed case, shown in Figure 3b, on the toilet, and the electronics (Figure 3a) nearby with a maximum distance of 1.5 m. The container used to perform the measurement can be any vessel, but to avoid urine dispersion, the upper diameter should be 15 cm or more and the lower diameter should be about 10 cm, to well accommodate the vessel on the load cell and to guarantee structural stability. The vessel weight should be sufficient for stability (up to a maximum of 200–300 mg).

#### 2.2.2. Data Transmission, Acquisition, and Processing

Data acquisition and processing were designed in accordance with the ICS Guidelines on Urodynamic Performance Equipment [9]. The UF sends a data array to the server, using the HTTPS protocol (Figure 4). The data contain information about urodynamic parameters and device id.





Figure 3. Cont.











**Figure 4.** Hardware and software architecture. The load cell communicating with the microcontroller sends the recorded measurements to a dedicated server. The data contain information about urody-namic parameters and device id. This data array is saved in a database associated with a specific patient. The physician can view the recorded measurement.

This data array is saved in a database associated with a specific patient and is sent to the physician. Therefore, before delivering the device to the patient, the physician must register the patient and associate the device with the dedicated platform.

The platform is structured in three main parts: the first dedicated to patient registration, the second reserved for the patient chart and device assignment, and a third for graphical visualization. The physician can view the recorded measurement indicating the day and time of interest and the patient's data.

Moreover, the physician can select several measurements of the same patient to compare them both graphically and numerically. In addition, the system allows for communication with patients through a dedicated APP and deletes unwanted measurements.

## 3. Cost Analysis

The cost analysis was carried out by the innovative PMI Nexus TLC and includes an evaluation of the hardware, software, and server part (Table 1). Consumables for the device were calculate at EUR 68.22 per case (Table 1), the full cost increases considering telemonitoring services offered. This cost is lower compared to competitors for the funnel and kingpost removal, which gives not only user-friendly but also financial profit.

Tab	le 1.	Cost ana	lysis: (	a)	Consuma	ble	es; (l	b)	Com	ponent	costs.
-----	-------	----------	----------	----	---------	-----	--------	----	-----	--------	--------

(a) Consumables.						
Consumables	Cost (EUR)					
ADC HX711 load Cell	6.99					
Node MCU ESP8266 ESP-12F	11.99					
waterproof button switch (2 mm round)	0.82					
Oled Display I2C IIC0.96 inich	6.99					
DC Jack	0.72					
CEM 1201	0.69					
weipu sp 12 series	15.43					
Pedrini Jug 1lt	10.3					
IP66 waterproof box	14.29					
(b) Component costs						
	Cost (EUR)					
Software	20 *					
Server	12 *					
Hardware	68.22					

\* These costs can be further amortized as the number of produced devices increases.

Moreover, as we have developed a physical device and an online service platform, those may be sold separately to offer a diversified service according to the requests. In this view, B2B as well as B2C business is possible. After these considerations, amortized costs to produce 1000 devices were calculated. It was determined that the cost of the full product is about EUR 100. This cost could be further reduced including a monthly cost for telemonitoring services (EUR 5) on the type of adopted business.

Currently, different office-based devices are available, all more expensive compared to ours, with a cost around EUR 1000–3000. This allowed us to present an innovative and low-cost UF.

#### 4. Urinary Flow Measurement in a Laboratory Setting

A laboratory measurement was made in order to assess the reliability of the system. The accuracy of this device is assessed by dropping a fluid, with a known flowrate, and by comparing the recorded/measured fluid flowrate with the one poured and known [10]. The flowmeters have accepted results if the volume error is 1–8% and Q errors 4–15% [11,12]. Thirty tests were carried out using a small funnel filled with 200 mL of water, generating a calibrated flow of 4 mL/s.

The following coefficients were collected (Table 2): maximum flow rate ( $Q_{max}$ ), time to void in seconds ( $T_{total}$ ), average flow rate ( $Q_{ave}$ ), voided volume ( $V_{voided}$ ), and delay time. The mean and standard deviation were calculated for all the measurements. The correlation between voided volume and predicted voided volume was analyzed. The reported accuracy of the system was  $\pm 0.01$  mL/s of  $Q_{max}$  and  $\pm 0.17$  mL of Vvoided. The graphic representation of the flow and voided fluid volume is shown in Figure 5.

	Q <sub>max</sub> (mL/s)	T <sub>total</sub> (s)	Q <sub>ave</sub> (mL/s)	V <sub>voided</sub> (mL)
Test 1	4.35	53.7	3.57	191.9
Test 2	4.36	53.7	3.57	192.0
Test 3	4.37	53.7	3.57	192.1
Test 4	4.34	53.7	3.56	191.6
Test 5	4.35	53.7	3.57	191.9
Test 6	4.35	53.7	3.57	191.9
Test 7	4.35	53.7	3.57	191.9
Test 8	4.35	53.7	3.57	191.9
Test 9	4.35	53.7	3.57	191.9
Test 10	4.36	53.7	3.57	192.0
Test 11	4.37	53.7	3.57	192.1
Test 12	4.34	53.7	3.56	191.6
Test 13	4.37	53.7	3.57	192.1
Test 14	4.34	53.7	3.56	191.6
Test 15	4.35	53.7	3.57	191.9
Test 16	4.35	53.7	3.57	191.9
Test 17	4.35	53.7	3.57	191.9
Test 18	4.35	53.7	3.57	191.9
Test 19	4.37	53.7	3.57	192.1
Test 20	4.34	53.7	3.56	191.6
Test 21	4.35	53.7	3.57	191.9
Test 22	4.36	53.7	3.57	192.0
Test 23	4.35	53.7	3.57	191.9
Test 24	4.37	53.7	3.57	192.1
Test 25	4.34	53.7	3.56	191.6
Test 26	4.35	53.7	3.57	191.9
Test 27	4.36	53.7	3.57	192.0
Test 28	4.37	53.7	3.57	192.1
Test 29	4.34	53.7	3.56	191.6
Test 30	4.37	53.7	3.57	192.1
Mean	4.35	53.70	3.57	191.89
SD	0.010	0.000	0.004	0.171

Table 2. Repeatability Test.

Maximum flow rate ( $Q_{max}$ ); time to void in seconds ( $T_{total}$ ); average flow rate ( $Q_{ave}$ ); voided volume ( $V_{voided}$ ); standard deviation (SD).



**Figure 5.** Graphic value report. Urine flow vs. time (s) and variation of urine volume (ml) over time (s).

# 5. Discussion

The present manuscript describes a novel, portable, low-cost, and weight-transducerbased home-based UF. A numerical novel algorithm helps to filter the dynamic effect due to urine gravity acceleration during the fall into the vessel placed on the load cell (gravity effect), simplifying the home measurement procedure by removing the funnel. The funnel absence and the algorithm development are the main differences compared to the officebased setting and has helped the development of a comfortable and user-friendly tool. High recorded data accuracy and repeatability have been demonstrated using calibrated water flow. Although a real-world setting validation is required for clinical application, the preliminary data are encouraging.

In addition to the developing interest in telemedicine and telehealth, this approach based on domiciliary tests and an online platform can revolutionize the urologic clinic landscape by eliminating the time wasted waiting in an office setting. Telemedicine has evolved into a wide range of forms and uses electronic devices to improve healthcare delivery in several contexts [13]. This new technology has the potential to improve patient care while reducing health care costs and acquires more importance considering the social distancing that is becoming the "new normal" due to the COVID-19 pandemic. Our approach could be considered a cost-effective and resource-efficient strategy that protects both patients and healthcare providers while ensuring the care of vulnerable patients.

Furthermore, the management of men with LUTS due to BPO is driven by symptom status, risk of disease progression, and the presence of BPH-related complications, such as recurrent urinary retention, urinary tract infection hydronephrosis, and decline in renal function. EAU guidelines suggest a risk-adapted, individualized approach. In men with mild symptoms (IPSS < 8), no complications, and low risk of disease progression, a conservative, watchful waiting approach is recommended [14]. In patients with moderate/severe symptoms and no complications, medical therapy is indicated [1,15–18]. Even if is beyond the scope of this article to describe the various treatment options [19,20], it is evident that constant and close objective monitoring of LUTS symptoms and therapeutic follow-up is highly needed [21–25]. Our home assessment device surely permits us to reach these goals better than the office-based one by offering the potential to provide cost-effective, high-quality, and constantly up-to-date data allowing for clinical decisions.

Although currently, office UF plays a key role in the evaluation of voiding disorders, a single UF examination is not considered satisfactory to provide an accurate picture of a patient's BPO because many patients are not able to relax and because circadian rhythms influence UF parameters. Moreover, significant differences in Qmax and Vvoid were seen according to time of day as reported by Porru et al., who found significant circadian differences in multiple measurements of  $Q_{max}$  [26]. For this reason, therapeutic decisions made on a single-flow examination can be questionable [27]. Although UF is considered a noninvasive test, it is influenced by the environment and patient's emotional distress. In this scenario, home-based UF may accomplish these limits with repetitive and comfortable measurements.

This study shows some limitations. Although the correlation between urine flow rate and predicted flow rate in a laboratory setting was satisfactory with a reported accuracy of  $\pm 0.01 \text{ mL/s}$  and  $\pm 0.17 \text{ mL}$  of  $Q_{max}$  and  $V_{voided}$ , respectively, the need to test the device on a patient cohort is required. Moreover, the absence of real-world setting validation is certainly needed to determine whether there is a pattern of discordance between the office-based and home-acquired UF. Certainly, further studies are required, and this aspect will be assessed in further papers. However, we strongly believe that the described device with its patented technology and laboratory-setting validation is worthy of interest for a big audience. Furthermore, a disadvantage of home-based UF is the impossibility to assess PVR, which is part of the guideline recommendation. A possible solution could be to perform a first clinic visit to determine PVR evaluation. Further studies are required to confirm quantitative data and to validate this home-based UF over the office-based one.

## 6. Conclusions

Within the exponential growth of telemedicine, this novel and compact home-UF demonstrated, in a laboratory setting, its reliability and promises together with an upcoming real-world validation to be a useful and invaluable tool in routine urological practice, allowing for repeated daily measurements in a comfortable home environment. Through a

dedicated online platform, the physician will be able to monitor the health status of the users and customize remotely and in real-time therapies.

**Supplementary Materials:** The following supporting information can be downloaded at: https: //www.mdpi.com/article/10.3390/ijerph20043287/s1, Table S1. Gravity term error estimation. Error (in percentage) due to the gravity term is calculated from Equation (3) for different values of volume (2, 10, 100, and 300 mL), flow (1, 5, 10, 15 mL/sec) and fall height (20 (A), 40 (B), and 60 (C) cm, which means an average height of 140, 170, and 200 cm, respectively).

Author Contributions: Study design, S.D.P., F.C. (Federica Caruso), A.A., S.C., F.C. (Felice Crocetto), E.D.Z., B.B., L.N., A.S., B.F.M., P.V. and R.V.; methodology, S.D.P., F.C. (Federica Caruso), A.A., S.C., F.C. (Felice Crocetto), E.D.Z., B.I.C., F.C. (Fabrio Crocerossa), F.T. and Z.W.; data curation, C.I., S.D.P., F.C. (Federica Caruso), A.A. and S.C.; writing—original draft preparation, S.D.P., F.C. (Federica Caruso), S.C., R.V. and E.D.Z.; writing—review and editing, all authors; project administration, S.D.P., F.C. (Federica Caruso) and R.V. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Not applicable.

**Conflicts of Interest:** The company had no role in the design of the study; in the collection, analyses, or interpretation of data; in the writing of the manuscript, or in the decision to publish the results.

#### References

- EAU Guidelines on the Assessment of Non-Neurogenic Male Lower Urinary Tract Symptoms Including Benign Prostatic Obstruction. 7 July 2021. Available online: https://pubmed.ncbi.nlm.nih.gov/25613154/ (accessed on 30 September 2022).
- Gammie, A.; Drake, M.J. The fundamentals of uroflowmetry practice, based on International Continence Society good urodynamic practices recommendations. *Neurourol. Urodyn.* 2018, 37, S44–S49. [CrossRef]
- Golomb, J.; Lindner, A.; Siegel, Y.; Korczak, D. Variability and circadian changes in home uroflowmetry in patients with benign prostatic hyperplasia compared to normal controls. *J. Urol.* 1992, 147, 1044–1047. [CrossRef] [PubMed]
- Bray, A.; Griffiths, C.; Drinnan, M.; Pickard, R. Methods and value of home uroflowmetry in the assessment of men with lower urinary tract symptoms: A literature review: Review of Home Uroflowmetry. *Neurourol. Urodyn.* 2012, 31, 7–12. [CrossRef]
- 5. Reynard, J.M.; Peters, T.J.; Lim, C.; Abrams, P. The value of multiple free-flow studies in men with lower urinary tract symptoms. *Br. J. Urol.* **1996**, *77*, 813–818. [CrossRef]
- 6. Crocerossa, F.; Visser, W.; Carbonara, U.; Falagario, U.G.; Pandolfo, S.D.; Loizzo, D.; Imbimbo, C.; Klausner, A.P.; Porpiglia, F.; Damiano, R.; et al. The impact the COVID-19 pandemic on urology literature: A bibliometric analysis. *Cent. Eur. J. Urol.* **2022**, *75*, 102–109.
- Rattanasomrerk, S.; Honglertsakul, C.; Gesprasert, G.; Chantakanakakorn, N.; Naiyanetr, P. Development of tele-home uroflowmetry system with NB-IoT implementation. In Proceedings of the 2019 12th Biomedical Engineering International Conference (BMEiCON), Ubon Ratchathani, Thailand, 19–22 November 2019; pp. 1–4. Available online: https://ieeexplore.ieee.org/ document/8990277/ (accessed on 30 September 2022).
- A Guide to Physics Problems Part 1 Mechanics, Relativity, and Electrodynamics Cahn, S.; Nadgorny, B. Camila Soares— Academia.edu. 9 August 2022. Available online: https://www.academia.edu/35470362/A\_Guide\_to\_Physics\_Problems\_Part\_1\_ Mechanics\_Relativity\_and\_Electrodynamics\_Cahn\_S\_Nadgorny\_B (accessed on 30 September 2022).
- 9. Chapple, C. International Continence Society guidelines on urodynamic equipment performance. *Neurourol. Urodyn.* **2014**, *33*, 369.
- Alothmany, N.; Mosli, H.; Shokoueinejad, M.; Alkashgari, R.; Chiang, M.; Webster, J. Critical Review of Uroflowmetry Methods. J. Med. Biol. Eng. 2018, 22, 38. [CrossRef]
- 11. Drach, G.W.; Binard, W. Disposable peak urinary flowmeter estimates lower urinary tract obstruction. *J. Urol.* **1976**, *115*, 175–179. [CrossRef] [PubMed]
- Caffarel, J.; Robson, W.; Pickard, R.; Griffiths, C.; Drinnan, M. Flow measurements: Can several "wrongs" make a "right"? Neurourol. Urodyn. 2007, 26, 474–480. [CrossRef] [PubMed]
- 13. Domingues, R.B.; Mantese, C.E.; Aquino, E.d.S.; Fantini, F.G.M.M.; do Prado, G.F.; Nitrini, R. Telemedicine in neurology: Current evidence. *Arq. Neuropsiquiatr.* 2020, *78*, 818–826. [CrossRef]
- 14. Kim, J.H.; Baek, M.J.; Sun, H.Y.; Lee, B.; Li, S.; Khandwala, Y.; Giudice, F.D.; Chung, B.I. Efficacy and safety of 5 alpha-reductase inhibitor monotherapy in patients with benign prostatic hyperplasia: A meta-analysis. *PLoS ONE* **2018**, *13*, e0203479. [CrossRef]

- 15. Fusco, F.; Creta, M.; Trama, F.; Esposito, F.; Crocetto, F.; Aveta, A.; Mangiapia, F.; Imbimbo, C.; Capece, M.; La Rocca, R.; et al. Tamsulosin plus a new complementary and alternative medicine in patients with lower urinary tract symptoms suggestive of benign prostatic hyperplasia: Results from a retrospective comparative study. *Arch. Ital. Urol. Androl. Organo. Uff. Soc. Ital. Ecogr. Urol. E Nefrol.* **2020**, *92.* [CrossRef]
- Busetto, G.M.; Giovannone, R.; Antonini, G.; Rossi, A.; Del Giudice, F.; Tricarico, S.; Ragonesi, G.; Gentile, V.; De Berardinis, E. Short-term pretreatment with a dual 5α-reductase inhibitor before bipolar transurethral resection of the prostate (B-TURP): Evaluation of prostate vascularity and decreased surgical blood loss in large prostates. *BJU Int.* 2015, *116*, 117–123. [CrossRef]
- 17. Checcucci, E.; Volpi, G.; Cillis, S.D.; Piramide, F.; Piana, A.; Veccia, A.; Falagario, U.; Loizzo, D.; Pandolfo, S.D.; Autorino, R.; et al. Comment on: "Emerging minimally invasive transurethral treatments for benign prostatic hyperplasia: A systematic review with meta-analysis of functional outcomes and description of complications". *Minerva Urol. Nephrol.* **2022**, *74*, 475–478. [CrossRef]
- Di Minno, A.; Aveta, A.; Gelzo, M.; Tripodi, L.; Pandolfo, S.D.; Crocetto, F.; Imbimbo, C.; Castaldo, G. 8-Hydroxy-2-Deoxyguanosine and 8-Iso-Prostaglandin F2α: Putative Biomarkers to assess Oxidative Stress Damage Following Robot-Assisted Radical Prostatectomy (RARP). J. Clin. Med. 2022, 11, 6102. [CrossRef]
- 19. Pandolfo, S.D.; Del Giudice, F.; Chung, B.I.; Manfredi, C.; De Sio, M.; Damiano, R.; Cherullo, E.E.; De Nunzio, C.; Cacciamani, G.E.; Cindolo, L.; et al. Robotic assisted simple prostatectomy versus other treatment modalities for large benign prostatic hyperplasia: A systematic review and meta-analysis of over 6500 cases. *Prostate Cancer Prostatic Dis.* **2022**, 1–16. [CrossRef] [PubMed]
- Romano, L.; Pellegrino, R.; Sciorio, C.; Barone, B.; Gravina, A.G.; Santonastaso, A.; Mucherino, C.; Astretto, S.; Napolitano, L.; Aveta, A.; et al. Erectile and sexual dysfunction in male and female patients with celiac disease: A cross-sectional observational study. *Andrology* 2022, 10, 910–918. [CrossRef]
- Cantiello, F.; Fimognari, D.; Di Mauro, M.; Crocerossa, F.; Carbonara, U.; Ferro, M.; De Cobelli, O.; Lucarelli, G.; De Nunzio, C.; Morgia, G.; et al. Mechanical and Ablative Minimally Invasive Techniques for Male LUTS due to Benign Prostatic Obstruction: A Systematic Review according to BPH-6 Evaluation. Urol. Int. 2021, 105, 858–868. [CrossRef]
- 22. Manfredi, C.; Arcaniolo, D.; Spatafora, P.; Crocerossa, F.; Fusco, F.; Verze, P.; Fiori, C.; Damiano, R.; Cindolo, L.; DE Sio, M.; et al. Emerging minimally invasive transurethral treatments for benign prostatic hyperplasia: A systematic review with meta-analysis of functional outcomes and description of complications. *Minerva Urol. Nephrol.* **2021**, *74*, 389–399. [CrossRef]
- 23. Loizzo, D.; Pandolfo, S.D.; Rogers, D.; Cerrato, C.; di Meo, N.A.; Autorino, R.; Mirone, V.; Ferro, M.; Porta, C.; Stella, A.; et al. Novel Insights into Autophagy and Prostate Cancer: A Comprehensive Review. *Int. J. Mol. Sci.* **2022**, *23*, 3826. [CrossRef]
- 24. Autorino, R.; Amparore, D.; Loizzo, D.; Pandolfo, S.D.; Checcucci, E.; Porpiglia, F. Robot-assisted Simple Prostatectomy Is Better than Endoscopic Enucleation of the Prostate. *Eur. Urol. Focus* **2022**. [CrossRef] [PubMed]
- Del Giudice, F.; Huang, J.; Li, S.; Sorensen, S.; Enemchukwu, E.; Maggi, M.; Salciccia, S.; Ferro, M.; Crocetto, F.; Pandolfo, S.D.; et al. Contemporary trends in the surgical management of urinary incontinence after radical prostatectomy in the United States. *Prostate Cancer Prostatic Dis.* 2022, 1–7. [CrossRef]
- 26. Porru, D.; Scarpa, R.M.; Prezioso, D.; Bertaccini, A.; Rizzi, C.A.; HOUSE Study Group. Home and office uroflowmetry for evaluation of LUTS from benign prostatic enlargement. *Prostate Cancer Prostatic Dis.* **2005**, *8*, 45–49. [CrossRef]
- 27. Boci, R.; Fall, M.; Waldén, M.; Knutson, T.; Dahlstrand, C. Home uroflowmetry: Improved accuracy in outflow assessment. *Neurourol. Urodyn.* **1999**, *18*, 25–32. [CrossRef]

**Disclaimer/Publisher's Note:** The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.